












10 µm      Mag = 1.00KX       EHT = 15.00KV     Date: 26 Oct 2009    Time: 12:01:16
                WD = 6 mm            Signal A = SE1      Universiti Teknoligi PETZRONS

(a)

10 µm      Mag = 1.00KX       EHT = 15.00KV     Date: 22 Oct 2009    Time: 15:48:21
                WD = 6 mm            Signal A = SE1       Universiti Teknoligi PETZRONS

(b)

10 µm      Mag = 1.00KX       EHT = 15.00KV     Date: 22 Oct 2009    Time: 16:00:57
                WD = 6 mm            Signal A = SE1       Universiti Teknoligi PETZRONS

(b)

10 µm      Mag = 1.00KX       EHT = 15.00KV     Date: 26 Oct 2009    Time: 11:40:14
                WD = 6 mm            Signal A = SE1       Universiti Teknoligi PETZRONS

(a)
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